\$131,165.33



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

	Estimate Number Prime Contractor Capita		Pay Period Start Paying & Construction, LLC Pay Period End			November 1, 2025 Net Chang			ntract Amoun Order Amoun tract Amoun	nt \$	51,800.00 16,562.13 68,362.13
Approval Date										By U	Iser
November 3, 2025			Generated and	d Appr	oved (and should be	consider	ed Draft) at	the Project O	ffice Level by		thompp1
November 3, 2025			Reviewed and App	oroved	(and should be cons	sidered Di	raft) at the f	Resident Engi	neer Level by		beckc2
November 4, 2025				Revi	ewed and Approved	at the Ce	ntral Office	Controllers O	ffice Level by		ramses1
Original Completion	Original Completion Date Current				Actual Completion	Date	%	unt Complete			
May 2, 2026	3	Ma	ay 2, 2026						87.90%		
	Cont	ract Informa	ational Dates					Mile	stones		
Date Description	Original Comp	letion Date	Current Completion	Date		Date D	escription	Original	Current	Days	Diary
Acceptance Date								Completion Date	Completion Date	Remaining on	Charge Days
Awarded Date	November 8, 20)24	November 8, 2024							Milestone	,-
Letting Date	October 18, 202	24	October 18, 2024			Milestor		November	November	Milestone	
Notice to Proceed Date	December 9, 20)24	December 9, 2024			for Pavi	tion Date ing	1, 2025	2, 2025	Complete	
Work Began Date						Comple JSP Q	tion per				

Contract Total Pa	ay For Estimate No. 11				
		This Estimate	Previous	To Date	
241018-D2A					
	Total Posted Items Pay	\$131,165.33	\$10,829,050.29	\$10,960,215.62	
	Gross Item Adjustments	(\$58,581.80)	\$873,245.98	\$814,664.18	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$384,043.62	\$384,043.62	
	•		\$12,086,339.89	\$12,158,923.42	
Contract Total Pa	avable This Estimate	\$72 583 53			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5P3500	0020	2031000	CLASS A EXCAVATION	CUYD	\$21.060	-30	(\$631.80)
	0200	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$20.000	20	\$400.00
	0210	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$280.000	6	\$1,680.00
	0220	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	EA	\$250.000	1	\$250.00
	0240	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	EA	\$65.000	85	\$5,525.00
	0270	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$1.000	78	\$78.00
	0470	6069902	MISC.HTGC ANCHOR ASSEMBLY	EA	\$4,499.160	2	\$8,998.32
	0480	6069903	MISC.HIGH TENSION GUARD CABLE	LF	\$14.280	7,775.967	\$111,040.81
	5002	6161030	TYPE 3 MOVEABLE BARRICADE	EA	\$262.500	6	\$1,575.00
	5006	2032000	CLASS C EXCAVATION	CUYD	\$75.000	30	\$2,250.00
Project J5P	3500 - Tota	al					\$131,165.33

Overall - Total Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3500	0070	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-813	\$19.34	(\$15,723.42)
	0070	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item	813	\$19.34	\$15,723.42

Revision 10/17/2025 Page 1 of 15

(\$58,581.80)



Total

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

Estimat	gress e Num 11		018-D2A ital Paving & C	onstruction, L		October 16, 2025 November 1, 2025	Original Contract Net Change Orde Current Contract	r Amount	\$12,451,800.00 \$16,562.13 \$12,468,362.13
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comn	nents	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3500					Adjustment (0001) due to overridding Payment Es the current Payment Es	stimate Exception 1 or	ı		
	0120	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material				-594.60000	\$75.51	(\$44,898.25)
	0120	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Material		This adjustment offsets generated Material Payr Adjustment (0002) due overridding Payment Es the current Payment Es	ment Estimate Item to user thompp1 stimate Exception 3 or	594.60000	\$75.51	\$44,898.25
	0131	TACK COAT - NON- TRACKING	Overrun		Unit price based on ave adjustments for installed previous payment estim Adjustments of ',3.2250 (if non-zero).	d quantity on all lates. Price	4,614.80000	\$3.22	\$14,882.73
	0200	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Overrun				-20	\$20.00	(\$400.00)
	0210	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Overrun				-6	\$280.00	(\$1,680.00)
	0240	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	Overrun				-9	\$65.00	(\$585.00)
	0470	MISC.	Construction Stockpile		Payment Estimate Item Stockpile Transaction	Adjustment generate	d		(\$2,728.42)
	0470	MISC.	Material				-14	\$4,499.16	(\$62,988.24)
	0470	MISC.	Material		This adjustment offsets generated Material Payr Adjustment (0007) due to overridding Payment Est the current Payment Est	ment Estimate Item to user thompp1 stimate Exception 4 or	14	\$4,499.16	\$62,988.24
	0480	MISC.	Construction Stockpile		Payment Estimate Item Stockpile Transaction	Adjustment generate	d		(\$68,071.11)
	0480	MISC.	Material				-16,270.16700	\$14.28	(\$232,337.98)
	0480	MISC.	Material		This adjustment offsets generated Material Payr Adjustment (0009) due to overridding Payment Est the current Payment Est	ment Estimate Item to user thompp1 stimate Exception 5 or	16,270.16700	\$14.28	\$232,337.98
	5002	TYPE 3 MOVEABLE BARRICADE	Material				-6	\$262.50	(\$1,575.00)
	5002	TYPE 3 MOVEABLE BARRICADE	Material		This adjustment offsets generated Material Payr Adjustment (0011) due overridding Payment Es the current Payment Es	ment Estimate Item to user thompp1 stimate Exception 6 or	6	\$262.50	\$1,575.00

Revision 10/17/2025 Page 2 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informat	ion				
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work				
J5P3500	FAF 54-3(208)	Coldmill, resurface, and guard cable	54	MILLER	on Route 54 from Cole County line to Route 242						
Totals b	y Job Nu	ımbers									
J5P3500		l Item Pay Item Adjustm		Item Pay	This Estimate \$131,165.33 (\$58,581.80) \$72,583.53	Previous \$10,829,050.29 \$873,245.98 \$11,702,296.27	To Date \$10,960,215.62 \$814,664.18 \$11,774,879.80				
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$384,043.62	\$0.00 \$0.00 \$0.00 \$384,043.62				

Revision 5/29/2025 Page 3 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5P3500, Item 3040506, Project Item Line Number 0070, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Woking with CD Materials to resolve issue. Need QC Compaction reported.	thompp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3500, Item 4019905, Project Item Line Number 0110, Material Set 401990596, Material 0401BPPMBP1 - Plant Mix for Bit Pavement BP-1, Acceptance Action Generic AspLow is insufficient.	Working with CD Materials to resolve issue.	thompp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3500, Item 4030103, Project Item Line Number 0120, Material Set 403010396, Material 0403SP125CLG - Superpave 12.5 mm, Des C Low Gyros, Acceptance Action Generic AspHigh is insufficient.	Working with CD Materials to resolve issue.	thompp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3500, Item 6069902, Project Item Line Number 0470, Material Set 6069902, Material 1040GUAAZC - Guard Cable Galv Anchor Assembly, Acceptance Action Generic 1040GUAAZC is insufficient.	Waiting on CD Materials to report the material.	thompp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3500, Item 6069903, Project Item Line Number 0480, Material Set 606990396, Material 1040GUCBZC - Guard Cable Galvanized, Acceptance Action Generic 1040GUCBZC is insufficient.	Waiting on CD Materials to report the material.	thompp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3500, Item 6161030, Project Item Line Number 5002, Material Set 616103096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material has been reported. Working with CD Materials to resolve the issue.	thompp1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3500, Item 6205902A, Project Item Line Number 0250, Material Set 6205902A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Waiting on third party retroreflectivity testing.	thompp1	Overridden
Estimate Exception Type: Item Overrun: Contract 241018-D2A, Contract Project J5P3500, Project Item Line Number 0200, Contract Line Item Number 0200, Item 6200015, Minor Item.	Change Order will be processed.	thompp1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-D2A, Contract Project J5P3500, Project Item Line Number 0210, Contract Line Item Number 0210, Item 6200021, Minor Item.	Change Order will be processed.	thompp1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-D2A, Contract Project J5P3500, Project Item Line Number 0240, Contract Line Item Number 0240, Item 6200042, Minor Item.	Change Order will be processed.	thompp1	Acknowledged

Revision 5/29/2025 Page 4 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract	Project No.	Category	Line No.	Item Code	d on Report Generated date and can differ from the post Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241018-	J5P3500	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$14,267.37	\$0.00
D2A		0001	0020	2031000	CLASS A EXCAVATION	323.00	-30.00	293.00	CUYD	293.00	\$21.06	\$6,170.58
		0001	0030	2036000	COMPACTING EMBANKMENT	18.00	0.00	18.00	CUYD	18.00	\$272.08	\$4,897.44
		0001	0040	2071000	LINEAR GRADING CLASS 1	918.90	0.00	918.90	STA	918.90	\$99.78	\$91,687.84
		0001	0050	2152000A	SHAPING SLOPES, CLASS II	919.00	0.00	919.00	100F	919.00	\$47.17	\$43,349.23
		0001	0060	2153000	SHAPING SLOPES, CLASS III	5.00	0.00	5.00	100F	0.00	\$1,392.45	\$0.00
		0001	0070	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	813.00	0.00	813.00	SQYD	813.00	\$19.34	\$15,723.42
		0001	0800	3105002	GRAVEL (A) OR CRUSHED STONE (B)	40.00	0.00	40.00	TONS	73.00	\$85.80	\$6,263.40
		0001	0090	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	4,919.20	357.40	5,276.60	TONS	5,276.60	\$65.78	\$347,094.75
		0001	0100	4019905	MISC.OPTIONAL PAVEMENT - 11" HMA VS 9.5" PCCP	813.00	0.00	813.00	SQYD	813.00	\$96.63	\$78,560.19
		0001	0110	4019905	MISC.VEGETATIVE BARRIER 3 IN. DEPTH	67,706.40	-2,197.30	65,509.10	SQYD	65,509.10	\$12.35	\$809,037.38
		0001	0120	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	95,847.00	-752.40	95,094.60	TONS	95,094.60	\$75.51	\$7,180,593.25
		0001	0130	4071005	TACK COAT	92,283.00	-75,394.00	16,889.00	GAL	16,889.00	\$2.58	\$43,573.62
		0001	0131	4071007	TACK COAT - NON-TRACKING	0.00	64,930.00	64,930.00	GAL	64,930.00	\$3.22	\$209,399.25
		0001	0140	4099905	MISC.Surface Sealing Treatment	130,369.90	0.00	130,369.90	SQYD	130,369.90	\$1.94	\$252,917.61
		0001	0150	6161005	CONSTRUCTION SIGNS	2,012.00	-124.00	1,888.00	SQFT	1,888.00	\$8.00	\$15,104.00
		0001	0160	6161025	CHANNELIZER (TRIM-LINE)	175.00	155.00	330.00	EA	330.00	\$20.00	\$6,600.00
		0001	0170 0180	6161040 6161099	FLASHING ARROW PANEL CHANGEABLE MESSAGE SIGN WITH COMMUNICATION	2.00 5.00	0.00	2.00 5.00	EA EA	2.00 5.00	\$1,000.00 \$2,800.00	\$2,000.00 \$14,000.00
		0001			INTERFACE, CONTRACTOR FURNISHED / RETAINED							
		0001	0190 0200	6181000 6200015	MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	1.00	0.00	1.00	LS LF	1.00 465.00	\$198,193.08 \$20.00	\$198,193.08 \$9,300.00
		0001			WHITE							
			0210	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	18.00	0.00	18.00	EA	28.00	\$280.00	\$7,840.00
		0001	0220	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	3.00	0.00	3.00	EA	3.00	\$250.00	\$750.00
		0001	0230	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	4.00	0.00	4.00	EA	0.00	\$450.00	\$0.00
		0001	0240	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	220.00	0.00	220.00	EA	229.00	\$65.00	\$14,885.00
		0001	0250	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	324,236.00	0.00	324,236.00	LF	324,236.00	\$0.29	\$94,028.44
		0001	0260	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	242,522.00	0.00	242,522.00	LF	242,522.00	\$0.28	\$67,906.16
		0001	0270	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	78.00	0.00	78.00	LF	78.00	\$1.00	\$78.00
		0001	0280	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	12,276.00	0.00	12,276.00	LF	12,276.00	\$1.00	\$12,276.00
		0001	0290	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	7,800.00	0.00	7,800.00	LF	7,800.00	\$0.50	\$3,900.00
		0001	0300	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	8,677.00	0.00	8,677.00	LF	8,677.00	\$0.50	\$4,338.50
		0001	0310	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$0.01	\$0.00
		0001	0320	6209903	MISC.8 IN WHITE HIGH BUILDWATERBOURNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,174.00	0.00	1,174.00	LF	1,174.00	\$1.00	\$1,174.00
		0001	0330	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	877,906.00	2,671.00	880,577.00	SQYD	880,577.00	\$1.10	\$968,634.70
		0001	0340	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	12,883.00	1,565.00	14,448.00	SQYD	14,448.00	\$3.57	\$51,579.36
		0001	0350	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	3,898.80	0.00	3,898.80	STA	3,898.80	\$4.31	\$16,803.83
		0001	0360	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$9,000.00	\$9,000.00
		0001	0370	8025006	MULCHING	10.50	0.00	10.50	ACRE	0.00	\$1,600.00	\$0.00
		0001	0380	8051000A	SEEDING - COOL SEASON GRASSES	10.50	0.00	10.50	ACRE	0.00	\$2,600.00	\$0.00
		0001	0390	8061005	ROCK DITCH CHECK	2,691.00	-2,615.00	76.00	LF	76.00	\$10.50	\$798.00
		0001	0400	8061016	SEDIMENT REMOVAL	78.00	0.00	78.00	CUYD	0.00	\$57.53	\$0.00
		0001	0405	8061017	TEMPORARY SEEDING	1.00	-1.00	0.00	ACRE	0.00	\$2,000.00	\$0.00
		0010	0410	8061019	SILT FENCE	35.00	0.00	35.00	LF	35.00	\$3.90	\$136.50
		0010	0420	6061060	MGS GUARDRAIL	1,888.00	400.00	2,288.00	LF	0.00	\$20.82	\$0.00
			0430	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	7.00	0.00	7.00	EA	0.00	\$3,093.47	\$0.00
		0010	0440	6061080	MGS END ANCHOR	5.00	0.00	5.00	EA	0.00	\$1,293.90	\$0.00
		0010	0450	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6.00	0.00	6.00	EA	0.00	\$2,968.92	\$0.00
		0010	0460	6069902	MISC.CABLE TO GUARDRAIL TRANSITION	17.00	-17.00	0.00	EA	0.00	\$5,214.76	\$0.00
		0010	0470	6069902	MISC.HTGC ANCHOR ASSEMBLY	43.00	17.00	60.00	EA	15.00	\$4,499.16	\$67,487.40
		30.0	0480	6069903	MISC.HIGH TENSION GUARD CABLE	91,909.00	125.00	92,034.00	LF	16,270.17	\$14.28	\$232,337.98

Revision 5/29/2025 Page 5 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241018-	J5P3500	0040	0490	9031220	PIPE POSTS	50.00	0.00	50.00	LB	0.00	\$24.30	\$0.00
D2A		0040	0500	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	64.00	-20.00	44.00	EA	0.00	\$304.63	\$0.00
		0040	0510	9031258	7 FT. CHANNEL POST DELINEATOR, WHITE/RED	1.00	0.00	1.00	EA	0.00	\$390.52	\$0.00
		0040	0520	9031280	2.5 IN. PSST POST - 12 GA.	1,024.00	0.00	1,024.00	LF	0.00	\$13.52	\$0.00
		0040	0530	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	64.00	0.00	64.00	EA	0.00	\$295.95	\$0.00
		0040	0540	9035004A	SH-FLAT SHEET	199.00	0.00	199.00	SQFT	0.00	\$24.04	\$0.00
		0001	5001	4039901	MISC.ASPHALTIC CONCRETE MIXTURE SP125C REPAIR	0.00	1.00	1.00	LS	1.00	\$63,500.04	\$63,500.04
		0040	5002	6161030	TYPE 3 MOVEABLE BARRICADE	0.00	6.00	6.00	EA	6.00	\$262.50	\$1,575.00
		0010	5003	6069901	MISC.Remove and Replace Existing Guardcable	0.00	1.00	1.00	LS	1.00	\$12,574.40	\$12,574.40
		0010	5004	6069901	MISC.Remove 100 LF of Existing Guardrail	0.00	1.00	1.00	LS	0.00	\$1,388.30	\$0.00
		0010	5005	6069902	MISC.Remove and Relocate Existing Type A CET	0.00	3.00	3.00	EA	0.00	\$2,811.07	\$0.00
		0001	5006	2032000	CLASS C EXCAVATION	0.00	30.00	30.00	CUYD	30.00	\$75.00	\$2,250.00
	Project J	5P3500 - To	tal Value	Posted to D	ate as of Report Generated Date							\$10,968,318.35
241018-D	2A Overa	I - Total Va	lue Poste	ed to Date as	of Report Generated Date							\$10,968,318.35

Revision 5/29/2025 Page 6 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: J5P3500

.,	001 0000																	
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments					
0020	2031000	CLASS A EXCAVATION	10/27/25	11/3/25	1	-30.00	CUYD	Ramp widening East Bound 54 to Route 52.	2+50.00	Right of Baseline	3+00.00							
0200	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	10/7/25	10/28/25	1	20.00	LF	54 East Bound Gore into Route V. (40' of 12" Thermo Marking) Small Gore Area	130.580	EB	130.600							
0210	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	10/7/25	10/28/25	1	2.00	EA	Willmore S 1 LT 1 RT	0.170	Willmore S								
				10/28/25	4	1.00	EA	54 West Bound Woodriver Road Left Turn	145.088									
				10/28/25	5	1.00	EA	54 EB Lt turn to FF	142.126	EB								
				10/28/25	6	2.00	EA	54 E to 52 Ramp Lt and Rt	1+35	54 EB								
				10/28/25	7	2.00	EA	54 E to 52 Ramp Lt and Rt	2+35	54 EB								
				10/28/25	8	-1.00	EA	Willmore S Right	.188									
				10/28/25	9	-1.00	EA	Willmore S Right	.209									
0220	6200024	PREF THERMO PVMT MRKG, STRIAGHT ARROW	10/7/25	10/28/25	1	1.00	EA	Willmore S Roundabout	.266									
0240	6200042	PREF THERMO PVMT MARK, YIELD TRIAN	10/7/25	10/28/25	1	7.00	EA	54 WB LT To Hunter Road.	125.118									
				10/28/25	2	7.00	EA	54 WB LT Left turn to Route V	141.224									
				10/28/25	3	7.00	EA	54 EB LT Left turn to Atchison Road.	145.797									
				10/28/25	4	7.00	EA	54 EB LT Left turn to Opie Road	146.709									
				10/28/25	5	16.00	EA	54 West to W Ramp 2	.025									
									10/28/25	6	11.00	EA	Route W to Roundabout.	23.666				
				10/28/25	7	12.00	EA	54 East to 52 Ramp	3+10.00									
				10/28/25	8	7.00	EA	54 East Bound to Riley mead Road	130.587									
				10/28/25	9	11.00	EA	Willmore S Connector Road to 54 WB Extra - Requested by MoDOT Traffic Division	0.129									
0270	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	10/7/25	10/28/25	1	15.00	LF	Ramp 2 west bound 54 to 52	0.137	Ramp 2								
				10/28/25	2	15.00	LF	EB Route V	130.618									
				10/28/25	3	30.00	LF	East Bound Tollwood Road	133.041									
				10/28/25	4	18.00	LF	Ramp 54EB to 52 Ramp 3	3+10									
0470	6069902	MISC. GUARDRAIL ITEM	10/30/25	11/3/25	1	2.00	EA	Westbound 54	129.200	West Bound	129.570							
0480	6069903	MISC. GUARDRAIL ITEM	10/20/25	10/20/25	1	2,052.60	LF	East Bound Median Opie Road to AA.	146.718	EB	148.273							
				10/20/25	2	2,336.40	LF	East Bound Median Atchison Road to Opie Road.	145.819	EB	146.704							
			10/23/25	10/27/25	1	1,040.20	LF	West Bound Opie Road west.	125.127	WB	125.324							
				10/27/25	2	343.20	LF	WB Atchison Road to west.	126.052	WB	126.117							
				10/27/25	3	126.57	LF	WB Short Road To the east	WB	126.640								
				10/27/25	4	411.80	LF	East Bound Short Road to the west.	145.092	EB	145.170							
			10/30/25	11/3/25	1	1,465.20	LF	Westbound Route 54 75% for slip bases and concrete. 1953.6 LF x .75 = 1465.2	129.200	Westbound	129.570							
5002	6161030	TYPE 3 MOVEABLE BARRICADE	10/27/25	11/3/25	1	6.00	EA	Used for ramp closures	Various									
5006	2032000	CLASS C EXCAVATION	10/27/25	11/3/25	1	30.00	CUYD	Ramp widening East Bound 54 to Route 52.	2+50.00		3+00.00							

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 15



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3500	0070	TYPE 5 AGGREGATE	Material	, , ,	9	Oct 2, 2025	SYSTEM	(\$15,723.42)	
		FOR BASE (6 IN. THICK)			9	Oct 2, 2025	SYSTEM	\$15,723.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Oct 15, 2025	SYSTEM	(\$15,723.42)	
					10	Oct 15, 2025	SYSTEM	\$15,723.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Nov 3, 2025	SYSTEM	(\$15,723.42)	
					11	Nov 3, 2025	SYSTEM	\$15,723.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	Estimate Exception For the surrout Taymont Estimate.
			Material - Tota	al				\$0.00	
	0070 -							\$0.00	
	0090	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Other Item Adjustment	ACAD	4	Jul 16, 2025	thompp1	\$45.90	This adjustment is for 57.37 tons of SP-125 used in lieu of BP-1.
		1 304 22 (Bi 1)			6	Aug 16, 2025	thompp1	\$3,757.85	This AC adjustment is for 5,219.23 tons of BP-1 @ 3.6% Virgin AC.
				ACAD - Tot	al			\$3,803.75	
			Other Item Ad	justment - To	tal			\$3,803.75	
			Overrun	Overrun	6	Aug 16, 2025	SYSTEM	(\$21,453.48)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Sep 16, 2025	SYSTEM	\$21,453.48	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',66.46059 - 65.78000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
			Price FUEL		4	Jul 16, 2025	SYSTEM	\$27.81	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Aug 16, 2025	SYSTEM	\$3,552.21	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$3,580.02	
			Price FUEL - 1	Гotal				\$3,580.02	
	0090 -	Total						\$7,383.77	
		MISC.	Other Item Adjustment	ACAD	8	Sep 16, 2025	thompp1	\$7,782.48	This adjustment is for 65,509.1 square yards of vegetative barrier, 3 inches thick @ 3.6% virgin AC.
				ACAD - Tot	al			\$7,782.48	
				FUEL	8	Sep 16, 2025	thompp1	\$4,844.59	This fuel adjustment is for 65,509.1 square yards of BP-1 Vegetative Barrier at 3 inches thick. (65,509.1 sq.yds. x 3 inches / 36) x 1.98 = 10,809.00 tons
				FUEL - Tota	ıl			\$4,844.59	
			Other Item Ad	justment - <u>To</u>	tal			\$12,627.07	
	0110 -	Total						\$12,627.07	
		ASPHALTIC CONCRETE	Material		3	Jun 30, 2025	SYSTEM	(\$66,958.49)	
					3	Jun 30, 2025	SYSTEM	\$66,958.49	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jul 16, 2025	SYSTEM	(\$399,271.21)	·
				4	Jul 16, 2025	SYSTEM	\$399,271.21	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					5	Aug 3, 2025	SYSTEM	(\$336,841.80)	•
					5	Aug 3, 2025	SYSTEM	\$336,841.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
									Louisiate Excoption 1 on the outront I aymont Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
5P3500	0120	ASPHALTIC CONCRETE	Material		6	Aug 16, 2025	SYSTEM	(\$163,060.82)				
		MIXTURE PG 70-22 (SP125C MIX)			6	Aug 18, 2025	SYSTEM	\$163,060.82	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
					7	Sep 2, 2025	SYSTEM	(\$24,559.63)				
					7	Sep 2, 2025	SYSTEM	\$24,559.63	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
					8	Sep 16, 2025	SYSTEM	(\$24,559.63)				
					8	Sep 16, 2025	SYSTEM	\$24,559.63	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thompp1 overridding Payment Estimate Exception 3 on the current Payment Estimate.			
					9	Oct 2, 2025	SYSTEM	(\$44,898.25)				
					9	Oct 2, 2025	SYSTEM	\$44,898.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user thompp1 overridding Payment Estimate Exception 4 on the current Payment Estimate.			
					10	Oct 15, 2025	SYSTEM	(\$44,898.25)				
					10	Oct 15, 2025	SYSTEM	\$44,898.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thompp1 overridding Payment Estimate Exception 4 on the current Payment Estimate.			
					11	Nov 3, 2025	SYSTEM	(\$44,898.25)				
					11	Nov 3, 2025	SYSTEM	\$44,898.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thompp1 overridding Payment Estimate Exception 3 on the current Payment Estimate.			
		Material - Tot	- Total				\$0.00					
		Other Item Adjustment	ACAD	3	Jun 30,	thompp1	\$0.00 \$15,109.40	This adjustment is for 18,886.75 tons of SP125 laid in the second estimate				
			Adjustment		4	2025 Jul 16,	thompp1	\$13,120.73	period of June 2025. This adjustment is for 16400.91 tons of SP125.			
					5	2025 Aug 3, 2025	thompp1	\$19,964.94	This adjustment is for 24,956.18 tons of mix SP125 25-1.			
					5	Aug 3, 2025	thompp1	\$8,173.64	This adjustment is for 10,217.05 tons of mix SP125 25-2.			
					6	Aug 16, 2025	thompp1	\$11,286.87	This AC adjustment is for 14,108.59 tons of SP125 @ 4.0% Virgin AC. Mix IE SP125 25-1			
					6	Aug 16, 2025	thompp1	\$2,471.98	This AC adjustment is for 3,089.98 tons of SP125 @ 4.0% Virgin AC. Mix ID SP125 25-2.			
					7	Sep 2, 2025	thompp1	\$5,732.63	This AC adjustment is for 7,165.79 tons of SP125 @ 4.0% virgin Ac. Mix id SP125 25-1.			
				ACAD - Tot	al			\$75,860.19				
			Other Item Ac	djustment - To		lum 00	0)(0751	\$75,860.19	Performed how Price Adhertment had a first of the control of the c			
			Price FUEL		3	Jun 30, 2025	SYSTEM	(\$12,478.09)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
					4	Jul 16, 2025	SYSTEM	\$7,949.85	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
					5	Aug 3, 2025	SYSTEM	\$17,049.16	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
							OVICEEN	¢44 70E 24				
					6	Aug 16, 2025	SYSTEM	\$11,705.34	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
					7		SYSTEM	\$4,877.04	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
						2025 Sep 2,						
			Price FUEL -	- Total	7	2025 Sep 2, 2025 Oct 2,	SYSTEM	\$4,877.04	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3500	0130	TACK COAT	Material		3	Jun 30, 2025	SYSTEM	(\$40,284.12)	
					3	Jun 30, 2025	SYSTEM	\$40,284.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user thompp1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	l				\$0.00	
	0130 -	Total						\$0.00	
	0131	TACK COAT - NON-TRACKING	Overrun	Overrun	7	Sep 2, 2025	SYSTEM	(\$14,163.56)	
					9	Oct 2, 2025	SYSTEM	(\$719.18)	
					11	Nov 3, 2025	SYSTEM	\$14,882.73	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',3.22500 - 3.22500, 'is applied (if non-zero).
				Overrun - T	otal			(\$0.01)	
			Overrun - Tota	ıl				(\$0.01)	
	0131 -	Total						(\$0.01)	
	0140	MISC. SCRUB SEAL	Material		8	Sep 16, 2025	SYSTEM	(\$126,458.90)	
					8	Sep 16, 2025	SYSTEM	\$126,458.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user thompp1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
			Other Item Adjustment	ACAD	8	Sep 16, 2025	thompp1	\$475.39	This adjustment is for 65,509.1 square yards @ 0.125 gallons per square yard = $8,148.1$ gallons.
			ACAD - Total					\$475.39	
		Other Item Adjustment - Total						\$475.39	
	0140 -							\$475.39	
	0160	CHANNELIZER (TRIM-LINE)	Overrun	Overrun	4	Jul 16, 2025	SYSTEM	(\$2,500.00)	
					8	Sep 16, 2025	SYSTEM	\$2,500.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0160 -	160 - Total						\$0.00	
	0200	PREF THERMO PVMT MARK, 24 IN WHIT	Overrun	Overrun	10	Oct 15, 2025	SYSTEM	(\$5,300.00)	
					11	Nov 3, 2025	SYSTEM	(\$400.00)	
				Overrun - Total				(\$5,700.00)	
			Overrun - Tota	ıl				(\$5,700.00)	
	0200 -	Total						(\$5,700.00)	
	0210	PREF THERMO PVMT MARK, LT/RT ARROW	Material		9	Oct 2, 2025	SYSTEM	(\$2,240.00)	
		LI/RI ARROW		- Total				(\$2,240.00)	
			Material - Tota	l				(\$2,240.00)	
			MaterialCredit		10	Oct 15, 2025	SYSTEM	\$2,240.00	
				- Total				\$2,240.00	
			MaterialCredit					\$2,240.00	
			Overrun	Overrun	10	Oct 15, 2025	SYSTEM	(\$1,120.00)	
				0	11	Nov 3, 2025	SYSTEM	(\$1,680.00)	
			Over Total	Overrun - T	otal			(\$2,800.00)	
			Overrun - Tota					(\$2,800.00)	



	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
0 (0210 -	Total						(\$2,800.00)				
(0240	PREF THERMO PVMT MARK, YIELD TRIAN	Overrun	Overrun	11	Nov 3, 2025	SYSTEM	(\$585.00)				
		YIELD TRIAN		Overrun - To	otal			(\$585.00)				
			Overrun - Tota	al				(\$585.00)				
(0240 -	Total						(\$585.00)				
(0250	6 IN. WHITE HIGH BUILD	Other Item Adjustment	REFL	7	Sep 2, 2025	thompp1	(\$2,711.00)	20% retainage until retroreflectivity has been completed.			
		WATERBORNE PAVEMENT MARKING			9	Oct 2, 2025	thompp1	(\$15,416.00)	This adjustment represents 20% retained until retroreflectivity results are received.			
		PAINT, TYPE L BEADS		REFL - Tota				(\$18,127.00)				
			Other Item Ad	justment - To	tal			(\$18,127.00)				
(0250 -	Total						(\$18,127.00)				
(0260	6 IN. YELLOW HIGH BUILD	Other Item Adjustment	REFL	9	Oct 2, 2025	thompp1	(\$13,581.00)	This adjustment represents 20% retained until retroreflectivity results are received.			
		WATERBORNE PAVEMENT MARKING		REFL - Tota	ı			(\$13,581.00)				
		PAINT, TYPE L BEADS	Other Item Ad	justment - To	tal			(\$13,581.00)				
(0260 -							(\$13,581.00)				
		12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	Other Item Adjustment	REFL	9	Oct 2, 2025	thompp1	(\$1,704.00)	This adjustment represents 20% retained until retroreflectivity results are received.			
				REFL - Tota	ı			(\$1,704.00)				
		PAINT, TYPE L BEADS	Other Item Ad	justment - To	tal			(\$1,704.00)				
(0280 -	Total						(\$1,704.00)				
(0390	ROCK DITCH CHECK	Material		9	Oct 2, 2025	SYSTEM	(\$798.00)				
					9	Oct 2, 2025	SYSTEM	\$798.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user thompp1 overridding Payme Estimate Exception 8 on the current Payment Estimate.			
					10	Oct 15, 2025	SYSTEM	(\$798.00)				
					10	Oct 15, 2025	SYSTEM	\$798.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user thompp1 overridding Payme Estimate Exception 8 on the current Payment Estimate.			
				- Total				\$0.00				
			Material - Tota	il				\$0.00				
(0390 -	90 - Total						\$0.00				
(0410	SILT FENCE	E Material		9	Oct 2, 2025	SYSTEM	(\$136.50)				
					9	Oct 2, 2025	SYSTEM	\$136.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user thompp1 overridding Payme Estimate Exception 9 on the current Payment Estimate.			
								10	Oct 15, 2025	SYSTEM	(\$136.50)	
					10	Oct 15, 2025	SYSTEM	\$136.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user thompp1 overridding Payme Estimate Exception 9 on the current Payment Estimate.			
				- Total				\$0.00				
			Material - Tota	al				\$0.00				
(0410 -	Total						\$0.00				
(0420	MGS GUARDRAIL	Construction Stockpile STMI		7	Sep 2, 2025	SYSTEM	\$25,002.81	Payment Estimate Item Adjustment generated Stockpile Transaction			
			STIVII	- Total				\$25,002.81				
			Construction	Stockpile STM	/II - Total			\$25,002.81				
(0420 -	Total						\$25,002.81				
(0430	MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile STMI		7	Sep 2, 2025	SYSTEM	\$12,789.00	Payment Estimate Item Adjustment generated Stockpile Transaction			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
I5P3500	0430	CURB)	Construction Stockpile STMI	- Total				\$12,789.00	
			Construction	Stockpile STI	MI - Total			\$12,789.00	
	0430 -	Total						\$12,789.00	
	0440	MGS END ANCHOR	Construction Stockpile STMI	- Total	7	Sep 2, 2025	SYSTEM	\$3,285.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Operational		MI Total			\$3,285.00	
	0440	Tatal	Construction	Stockpile STI	wii - Totai			\$3,285.00	
	0440 - 0450	TYPE A	Construction		7	Son 2	SYSTEM	\$3,285.00	Doument Estimate Item Adjustment generated Stackhille Transaction
	0430	CRASHWORTHY END TERMINAL (MASH)	Stockpile STMI	- Total	1	Sep 2, 2025	STSTEM	\$11,100.00 \$11,100.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(IVIAGIT)	Construction		MI - Total			\$11,100.00	
	0450 -	Total	Construction (otookpiio o ri	in rotar			\$11,100.00	
	0470	MISC. GUARDRAIL	Construction Stockpile		9	Oct 2, 2025	SYSTEM	(\$16,370.53)	Payment Estimate Item Adjustment generated Stockpile Transaction
		ITEM	,		11	Nov 3, 2025	SYSTEM	(\$2,728.42)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$19,098.95)	
			Construction	Stockpile - To	otal			(\$19,098.95)	
			Construction Stockpile STMI		5	Aug 3, 2025	SYSTEM	\$77,760.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$77,760.00	
			Construction	Stockpile STI	MI - Total			\$77,760.00	
			Material		9	Oct 2, 2025	SYSTEM	(\$53,989.92)	
					9	Oct 2, 2025	SYSTEM	\$53,989.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user thompp1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					10	Oct 15, 2025	SYSTEM	(\$53,989.92)	
					10	Oct 15, 2025	SYSTEM	\$53,989.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user thompp1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					11	Nov 3, 2025	SYSTEM	(\$62,988.24)	
					11	Nov 3, 2025	SYSTEM	\$62,988.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user thompp1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	aterial - Total					
	0470 -	70 - Total							
	0480) MISC. GUARDRAIL ITEM	Construction Stockpile		10	Oct 15, 2025	SYSTEM	(\$73,854.84)	Payment Estimate Item Adjustment generated Stockpile Transaction
					11	Nov 3, 2025	SYSTEM	(\$68,071.11)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$141,925.95)	
			Construction	Stockpile - To	otal			(\$141,925.95)	
			Construction Stockpile STMI	Stockpile		Aug 3, 2025	SYSTEM	\$762,678.84	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$762,678.84	
			Construction	Stockpile STI	MI - Total			\$762,678.84	
			Material		10	Oct 15, 2025	SYSTEM	(\$121,297.18)	
					10	Oct 15, 2025	SYSTEM	\$121,297.18	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user thompp1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					11	Nov 3, 2025	SYSTEM	(\$232,337.98)	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3500	0480	MISC. GUARDRAIL ITEM	Material		11	Nov 3, 2025	SYSTEM	\$232,337.98	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user thompp1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0480	Total						\$620,752.89	
	5002	TYPE 3 MOVEABLE BARRICADE	Material		11	Nov 3, 2025	SYSTEM	(\$1,575.00)	
		DANNICADE			11	Nov 3, 2025	SYSTEM	\$1,575.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user thompp1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	5002	Total						\$0.00	
J5P3500 -	Total						\$814,664.18		
Overall -	Total					\$814,664.18			



Contract Adjustments for Contract - 241018-D2A

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
5	J5P3500	Other Contract Adjustment	BMD	\$81,550.80	100	August 3, 2025	thompp1	This BMD adjustment is for the following lots: Lot A \$13,591.80 @ 103% Pay Lot B \$13,591.80 @ 103% Pay Lot C \$13,591.80 @ 103% Pay Lot D \$13,591.80 @ 103% Pay Lot E \$13,591.80 @ 103% Pay Lot F \$13,591.80 @ 103% Pay
		Other Contract Adjustment	SPAD	\$54,820.26	100	August 3, 2025	thompp1	Total Bonus \$81,550.80 This adjustment is for Super Pave Bonus payments for the following lots: Lot A -\$13138.74 Payment @ 97.1% Payment Lot B \$13591.80 Payment @ 103% Payment Lot C \$13591.80 Payment @ 103% Payment Lot D \$13591.80 Payment @ 103% Payment Lot E \$13591.80 Payment @ 103% Payment Lot F \$13591.80 Payment @ 103% Payment Total Bonus Payment \$54,820.26
5 - Total	IED2E00	Other	CDAD	\$136,371.06	400	August 16	th a man m d	This adjustment is fact at LO 400 0 V Day
6	J5P3500	Other Contract Adjustment	SPAD	\$13,591.80	100	August 16, 2025	thompp1	This adjustment is for Lot I @ 103.0 % Pay
		Other Contract Adjustment	BMD	\$13,591.80	100	August 16, 2025	thompp1	This BMD adjustment is for Lot G.
		Other Contract Adjustment	SPAD	\$10,420.38	100	August 16, 2025	thompp1	This adjustment is for Lot J @ 102.3 % Pay
		Other Contract Adjustment	SPAD	\$13,591.80	100	August 16, 2025	thompp1	This adjustment is for Lot G @ 103.0 % Pay
		Other Contract Adjustment	BMD	\$13,591.80	100	August 16, 2025	thompp1	This BMD adjustment is for Lot I @ 103.0 % Pay
		Other Contract Adjustment	BMD	\$13,591.80	100	August 16, 2025	thompp1	This BMD adjustment is for Lot H @ 103.0 % Pay
		Other Contract Adjustment	BMD	\$13,591.80	100	August 16, 2025	thompp1	This BMD adjustment is for Lot J @ 103.0 % Pay
6 - Total				\$91,971.18				
7	J5P3500	Other Contract Adjustment	BMD	\$13,591.80	100	September 2, 2025		This Superpave BMD adjustment is for 6,000 tons of lot #L mix id SP125 25-1 @ 103.0%
		Other Contract Adjustment	BMD	\$13,591.80	100	September 2, 2025	thompp1	This Superpave BMD adjustment is for 6,000 tons of lot #K mix id SP125 25-1 @ 103.0%
		Other Contract	BMD	\$13,591.80	100	September 2, 2025	thompp1	This Superpave BMD adjustment is for 6,000 tons of lot #A mix id SP125 25-2 @ 103.0%

Revision 5/29/2025 Page 14 of 15



Contract Adjustments for Contract - 241018-D2A

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
7	J5P3500	Adjustment						
		Other Contract Adjustment	SPAD	\$20,842.90	100	September 2, 2025	thompp1	This Superpave adjustment is for 9,518.22 tons of lot #M mix id SP125 25-1 @ 102.9%
		Other Contract Adjustment	SPAD	\$16,554.88	100	September 2, 2025	thompp1	This Superpave adjustment is for 7,308.03 tons of lot #B mix id SP125 25-2 @ 103.0%
		Other Contract Adjustment	SPAD	\$13,591.80	100	September 2, 2025	thompp1	This Superpave adjustment is for 6,000 tons of lot #L mix id SP125 25-1 @ 103.0%
		Other Contract Adjustment	BMD	\$16,554.88	100	September 2, 2025	thompp1	This Superpave BMD adjustment is for 7,308.03 tons of lot #B mix id SP125 25-2 @ 103.0%
		Other Contract Adjustment	BMD	\$21,561.62	100	September 2, 2025	thompp1	This Superpave BMD adjustment is for 9,518.22 tons of lot #M mix id SP125 25-1 @ 103.0%
		Other Contract Adjustment	SPAD	\$12,232.62	100	September 2, 2025	thompp1	This Superpave adjustment is for 6,000 tons of lot #A mix id SP125 25-2 @ 102.7%
		Other Contract Adjustment	SPAD	\$13,591.80	100	September 2, 2025	thompp1	This Superpave adjustment is for 6,000 tons of lot #K mix id SP125 25-1 @ 103.0%
7 - Total				\$155,705.90				
9	J5P3500	Other Contract Adjustment	BMD	\$16,552.62	100	October 2, 2025	thompp1	This BMD adjustment is for sublot B of mix id SP125 25-2. 7,307.03 tons at 103% pay.
		Other Contract Adjustment	BMD	(\$16,554.88)	100	October 2, 2025	thompp1	This adjustment is to remove the BMD adjustment made on estimate 7. The adjustment made on estimate 7 was for the incorrect tons. A new adjustment will be made on this adjustment representing the correct tons for Sublot B for mix ID SP125 25-2.
		Other Contract Adjustment	SPAD	(\$16,554.88)	100	October 2, 2025	thompp1	This adjustment is to remove the SPAD adjustment made on estimate 7. The adjustment made on estimate 7 was for the incorrect tons. A new adjustment will be made on this adjustment representing the correct tons for Sublot B for mix ID SP125 25-2.
		Other Contract Adjustment	SPAD	\$16,552.62	100	October 2, 2025	thompp1	This SPAD adjustment is for sublot B of mix id SP125 25-2. 7,307.03 tons at 103% pay.
9 - Total				(\$4.52)				
Overall -	Total			\$384,043.62				

Revision 5/29/2025 Page 15 of 15